ydy xdx f ydy _[ xdx
ey =

1—y2 x2-1 1—y2 x? -1
1 (—2ydy 1 2xdx 1 5 1 )
:)_Efl—yz_fsz—l:}_flnll_y |—Eln|x —1|+C

(3) sin?xcosydx +sinysecxdy =0

o) b cosysecy Ao byl dandy ahy Gl patiall Jaad : sl

sin®x siny - siny
dx + dy=0:/~fsm cosxdx+J dy =C
secx COSy COSy
sin3x —siny sin3x
= —j dy =C = —In|cosy|=C
3 cosy
H.W:

e 2x(y+ 1)dx—ydy =0
e x’(1—yHdx+y(1+x%)dy=0
e (y2+y)dx— (x*—x)dy =0

r— 1+y
1+x
° y’ = Xty

e x’(y+ Ddx+y?(x—1)dy=0
° y’ = \/1:7;2
e (1+y)dx+ (1 +x*)dy=0
o (1+y?)dx—V1—x2dy=

S Al A A e dudlaial) e el (Y)

:(Homogenous Equations of First Order and First Degree)
V) Japl a3 1 Aspall (g Asilaie Wl £, y) AN J 2y 0

fltx, ty) =t"f(x,y) (t>0)



tlagio JS Aajd aa A0 cdluilatie A8V Jhsal) caslS 1Y) Lag o AL
(1) f(xy) =7x*+8xy — gy
:Jadl
f(tx, ty) = 7(tx)? + 8(tx)(ty) — g(ty)? = 7t?x? + 8t?xy — gt?y?
= t%2(7x?% + 8xy — gy?)
=t*f(x,y)
Y daall e dusilaia £(x, y) DA
2) flx,y)=x%—-2y>+5y%x
:Jaldl

f(tx, ty) = (tx)® — 2(ty)® + 5(ty)?(tx) = t3x3 — 2t3y3 + 5t3y%x
= t3(x3 — 2y3 + 5y%x)
=t3f(x, )

YoAaoall e Aalaia fi(x, y) Al
) flry)=gx*—xy+2x
: Jad)
f(tx, ty) = g(tx)* — (tx)(ty) + 2(tx) = gt*x? — t?xy + 2tx
ilatie Cad 214 -
Ll Juas M(x, y)dx + N(x,y)dy = 0 il caliill 3 Iabadl) 1y

Aol A glcies dailaie AN 5 M e JS cailS 1) cslacia

(x? —xy + y*)dx — xydy = 0 : b
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Y sl e dslaie M (2, y) LY daoall (e dlaie N (X, y)
Adilaie 4lialds Aales (& dalaal
raualanadl dalaladl) aaladdl Ja

: V) il Sy Jal)

y = vx
dy = vdx + xdv

S Lihyrie Juadit liald dalee ) dolaial) 4l calal) ddaleal) Jsami
) ABGY) G einge s LSy cddsn Lela alay)
1) (x2—xy+y?dx—xydy=0
oyt Jad duilatie Alialail) dalea) :Jad)
y =vx = dy = vdx + xdv
to i Aaleall 8 oy el

(x? — x(vx) + (vx)?)dx — x(vx)(vdx + xdv) = 0
= (x? — x%v + v?x?)dx — x*>v(vdx + xdv) = 0
= (x? — x%v + v?x? — x?v®)dx — x3vdv = 0

= x?(1—v)dx —x3vdv =0

x3(1—v) e cbphall dandy clyanal Juad 2y

dx % dx %
— dv=0=>j—+f dv=f0
X 1—v X v—1

wv—1+1
= Inx + — dv=C=>lnx+jdv+j

dv B
v—1

C
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=>lnx+v+ln|v—1|=C=>lnx+¥+ln|%—1|=€
(2) xdy-— (y+\/m)dx =0
tomot dad (Ja) Aapall ey dilaie dolialadl) Aaled)
y =vx > dy = vdx + xdv

to iy Aglaalinl) Aaleal) & Gy seilly

x(vdx + xdv) — (vx + \/xz — vzxz) dx =0
= xvdx + x*dv — (vx + \/xz(l — vz)) dx =0
= xvdx + x%dv — (vx + x+/ (1 — vz)) dx =0

= xvdx + x%dv — vxdx — x\/1 —v2dx =0

= x%dv 1 —v2d 0= v dx 0
X —xy1- X = —— =
vi—-v2 X
=>j dv jdx C = sin™1 In|x| =C
— | —= sin~'v —In|x| =
V1 —v? X

5 sin_l(%) —Inlx| = C

H.W: Solve the following equations:

1) (xy—y»dx—x?dy =0

(2) 2xy+y?)dx —2x*dy =0

B) (x?+y¥dx —2xydy =0

4) xy*dy — (x*y®)dx =0

5) x(1+ey/x)dy+(x—y)e3’/xdx=0

6) xdy—(y++Jx?+y?dx=0
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